20 (700 AtHIZ) AtHIS & (710 9HIs) ZYHIE
HE (714 224d]) 2Hbl = (201 LBr2Zd|) Ler2gd| chel - ®H>)
Bo8-HE-2 o & oL E|l s 2
= Al 16,754,742 14,212,007 2,542,735
700 AtHIZ 8,702,297 9,358,082 655,785
710 FHI= 8,652,297 9,308,082 A655,785
714 24| 4,098,710 4,521,198 AN422,488
200 2Z 34 4,093,710 4,516,198 N422,488
201 LEt2E] 3,623,710 3,685,798 A 162,088
02 =32l 3,523,710 3,685,798 A 162,088
Odt=2t1 BTLAIE U= 2,825,710
=) 1,978,000,000& = 1,978,000
a1 538,000,000& = 538,000
) 309,710,000& = 309,710
Oot=2t BTLAIY 2ZH| 698,000,000& = 698,000
214 =&KX M bl 570,000 830,400 260,400
02 Aotx=T2 WA 280,000 280,000 0
OLFot+=2t S WXl 280,000
OCCTV & O A 5,000& x6,000m = 30,000
OkLZ:& ==+ 50,000& x 5,000m = 250,000
05 ==4&%X Y 290,000 550,400 A260,400
Oot=2AZANE RAES 170,000
Odt=&=4 100,000& x 1,400m" = 140,000
OR(Q)x E5I&E WEDN(SFY)
400,000& x 7500 2~ = 30,000
O4atol=% GISAIAE SAl2el 6,000& x 20,000m = 120,000
300 ZA0IH 5,000 5,000 0
317 SIILELESAHATRES 5,000 5,000 0
Qot=EAEZE =+ =2 500,000, 000& x 1% = 5,000 5,000 5,000 0




20 (700 AtEHIE) AtEHIE g o (710 SgHIE) gL
Mg : (716 Hel=bl) del =l S (207 HPIHEHI) SHRIpEH] (6t9] © ®2)
BoE M-S o & o |88 &l 2
716 Xcl &bl 4,132,016 4,443,634 A311,618
200 2g3bl 2,202,016 1,168,144 1,033,872
207 A-OHEH] 463, 144 68, 144 395,000
01 xS 463, 144 68, 144 395,000
OZIIZAIE 20 JotetE 29
8,000,000& = 8,000
OEFEot=HelAlE 222E 8ot 89
60,143,820& = 60,144
O&3cot=xXelAlE d288 89 35,000,000& = 35,000
O83ot-xlAld Jl=dd 59 360,000,000& = 360,000
214 =&KX u A Hl 788,872 300,000 488,872
05 ==X 788,872 300,000 488,872
Odt== X 0I5 € /AEXYI 200,000,000& = 200,000
OHH? St XClFSE St AIE JHES
100,000,000& = 100,000
OAIIHX Bi==¢ HE= 200,000,000& = 200,000
Odt=XelAe & ERXclAE AL =X
200,000,000& = 200,000
OTNS EE2ZAH & =2 (HE,IIX)
8,000,000 x 2044 = 16,000
Ost4s NHAANE HIISUSH SFSH 4£48
21,920
oSZUII=E FFEH 1,185,000& x 182 = 21,330
oI =2 FHES 295,000& x2& = 590
O=FIIZAE =2 Sl 4,100,000& x 128 = 49,200
ONEot=XCIAIE FoHeE 520 24|
146,000& x 128 = 1,752
215 Sl 950,000 800,000 150,000
O8ZIN=NE (G, 22 ) AII= 950,000 950,000 800,000 150,000
1) 400,000,000& = 400,000
=) 550,000,000& = 550,000




2 (700 AtEHIS) AHEHIZ & (710 ZYHI) FFHIE
Mg : (716 Hel®bl) el =l S @ (307 2I2H0IH) LU0 el ®S)
BB -ME-S o & oL E|l s 2
300 Z&old 1,930,000 ,275,490 | 21,345,490
307 gI2t0IA 1,930,000 ,928,798 1,202
05 pIZteerz 1,930,000 ,928,798 1,202
OBIIZANE 2g Bz 1,860,000
1) 1,265,592,000& = 1,265,592
) 594,408,000& = 594,408
OATE ot=XelAE Se2eldle FAZ2+H
70,000,0002 = 70,000
751 Y|yl 421,571 343,250 78,321
100 oIsE=2dEH| 344,304 265,673 78,631
101 el 326,784 248,333 78,451
01 E= 326,784 248,333 78,451
o= 215,689
Ob= 3,875,600& x 2% x 128 = 93,015
or= 3,453,000& x 1H x 128 = 41,436
O8= 2,461,400& x2¥ x 12& = 59,074
O9%= 1,847,000& x 1E x 128 = 22,164
odz2+¢ 215,689,000 x 1/12 = 17,975
odz2xgtet= 5,280
0204 0l &f 100,000& x2& x 128 = 2,400
O154H014f 20=01¢t 80,000& x 1¥ x 128 = 960
O10=014f 15= 01 60,000& x 1H x 128 = 720
O5E0l2f 10402t 50,0003 x2H x 128 = 1,200
OFEIZFEFIHIHe =3 1,080
O 259014 30,000& x3H x 128 = 1,080
(OESNISeE s 33,703
Ob6= 10,6823 x 50AI 2t x 2H x 128 = 12,819
ora 9,649% x50AIZtx 18 x 128 = 5,790




T (700 MHIR) AIRBIS & (710 FYHIB) A
NIE : (751 eratg|dl) Brately| = @ (101 elzddl) ol (&=l @ &)
Bog-HE-2 o & o |88 &l 2
OL= 8,663 X 50A| 2t x 2 x 128 = 10,396
O9%= 7,830 X 50AI 2t x 1H x 128 = 4,698
CRIERN 6,480
OL:[EN; 40,000& x5 x 128 = 2,400
OR2I=E 20,000& x 13H x 12& = 3,120
OAMOIZIHAZ (201201 %) 80,000& x 1H x 12& = 960
OJl=328+4 50,000% x 5% x 128 = 3,000
oHssRaE=¢ 3,119
OL=10 B 3,875,600 x 1¥ x4.1/100%x 12& = 1,907
Oorsi= 2,461,400% x 1H x4.1/100x 12& = 1,212
oOZA=E 50,000 x 3 x 128 = 1,800
OZFAZAI 130,000& x 6% x 12& = 9,360
O EFIH 215,689,000 x 1/12x 120% = 21,569
OHILE 4| 215,689,000 x 1/12x 86%x 1/30x 15 = 7,729
106 X SR=HFH| 17,520 17,340 180
02 Xg=22H 7,920 7,740 180
(OFSF=3EN 7,920
O6= 155,000 x 2% x 128 = 3,720
ora 140,000 x 1 x 128 = 1,680
0892 105,000& x 2H x 12& = 2,520
03 SHYLFHAY 9,600 9,600 0
O3J18EY 80,000% x 5% x 12& = 4,800
OZgEIIARHE 80,000& x 29 x 12& = 1,920
OF+=2HAIRE 80,000& x3H x 12& = 2,880
200 22| 72,267 72,577 A310
201 eI 59,719 60,029 A310
01 AtR2telt 49,364 49,364 0
o2g=¢ 9,000




(700 MHIB) AlgHIS g (710 FYUHIS) FAUIE
Mg (751 etzteldl) etaeldl £ 0 (201 LEr2gdl) derddl (&2 © &)
8- M- o & o |88 &l 2
Ott==2t 1 EH| BTLAIY HutEIIRIES =&
100,000 x 102! x 43| = 4,000
OStaRelAlE 9ietpe] DI 25 Haay
100,000& x 102! x 13| = 1,000
Odt==xelAld SHAEAR A+
100,000& x 10¢! x 43| = 4,000
Ogtt=EH] 22,000
O3JIgalH 2N === 15,000,000& x 13| = 15,000
O2kXMel e === 40,000, 000& x 10/100 = 4,000
OuectaH Olg=+2 20,000& x 403! = 800
Oot==SJH B DRUEERA =2
2,200,000& x 13| = 2,200
Cl==1:] 3,529
Odt=E JR =& DA 3,529,000& = 3,529
OJIet=2g &l 2,335,000& = 2,335
O E =t 2,500
Oot=E2d YA 1S 500,000& x 5% = 2,500
Oct= 2t S22 MA 5,000,000& x2& = 10,000
02 =24l 10,355 10,665 A310
0B322 2 MAl 2,900
Odt==<8 2/l 2,900,000& x 12| = 2,900
ONYSII Oatal A HEAAE =2
7,455,000 12| = 7,455
202 0OdHl 10,248 10,248 0
01 =U¢l 10,248 10,248 0
Oct=E PRFE (bl 10,248,000& = 10,248
212 =Scl=4d| 2,300 2,300 0
09 DJIEt=cl=dd| 2,300 2,300 0
O Il=4| 2,300
O ot=E2 IYS 150,000& x 5& x 28| = 1,500




T (700 MHIB) AFRHIS g (710 2UIB) A
g : (751 guraieiyl) guaely S (212 =254H) =254
BoE-NE-S o & o LT &
O ot=E28=+ otd3gt 80,0003 x 5% x 23] = 800
300 Z&old 5,000 5,000
301 2etEd= 5,000 5,000
10 BAIMHIELNS 5,000 5,000
OHZDAZ HEA 29 5,000,000& = 5,000
800 ofdlbl 50,000 50,000
ol gl sl 50,000 50,000
801 oiblbl 50,000 50,000
©ouldldl 50,000,000& = 50,000 50,000 50,000




20 (200 MHEAXE) HEHXSE g (230 KRENUMFS) KRENFHS
Mg (234 R=ZE) == S 1 (401 AIZHIZLLOHI) AIEHIL 208 ¢ s HRY)
oMY o & oL E|l s 2
200 MH=2HA= 8,052,445 4,853,925 3,198,520
230 RELFHS 8,002,445 4,803,925 3,198,520
234 A== 7,091,420 4,015,000 3,076,420
401 AlZHIZL RO 7,091,420 4,015,000 3,076,420
01 A&l 7,069,046 3,996,541 3,072,505
ON&E& ot=Xcl7Y ot+=22 JBlAY 1,264,003
=) 888,000,000& = 888,000
a1 338,000,000& = 338,000
) 38,003,000& = 38,003
OLN.AE ot=2=2 JHIAME 2,307,373
=) 1,271,000,000& = 1,271,000
a1 62,000,000& = 62,000
<) 500,000,000& = 500,000
=) 474,373,000& = 474,373
OZ= =22 FHIAME 3,497,670
=) 2,455,000,000& = 2,455,000
1) 262,000,000& = 262,000
=) 780,670,000& = 780,670
03 A= 0HH| 22,374 18,459 3,915
OHEE ot=XHel7Y ot=22 FHI A
1,268,570,000& x 0.36% = 4,567
OLHM.?AH ot=2tZ HBIAIL
2,315,710,000& x0.36% = 8,337
0= =22 ALY 3,507,140,000& x0.27% = 9,470
235 JIAHIEX 911,025 688,925 222,100
401 AlZHIZL R 911,025 688,925 222,100
01 Al&H 905,720 684,000 221,720
O otxiclAlE € 2=XclAE JIHAEX =2
342,000,000& = 342,000




2 (200 XEHIXE) H=2HXE & @ (230 REMHE) REXMFS
M : (235 JIHEX) JIHF S (401 ASHILROE) ASHILRHY Crel : ER)
o3 -ME -2 o & o L8 s 2
© HE, JIHES3ct==X2lAIE TS SEII1J] u Al
250,000,000& x 24 A = 500,000
O A28t elE B(T-PIMZAIE &1 63,720
<) 31,860,000& = 31,860
=) 31,860,000& = 31,860
03 A=Y 5,305 4,925 380
O ot=HMelAld & 2=XHeAE SXNE+ S
842,000,000& x0.63% = 5,305
800 ofdlbl 50,000 50,000 0
801 0GidIbl 50,000 50,000 0
801 oiblbl 50,000 50,000 0
©ouldldl 50,000,000& = 50,000 50,000 50,000 0




